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35 A5 F & Complex formation reaction Ks

Ag* + 2Br == AgBry 2.1x107
Ag" + 2CI" == AgCly 1.1x10°
Ag" + 2CN° = Ag(CN)y 1.3x10%
Agt + 21" == Agly 5.5x10"
Ag" + 2NH; == Ag(NHa)," 1.1x107
Ag' + 2SCN- == Ag(SCN)y 3.7x107
Ag* + 25,05 == Ag(8203)23' 2.9x1013
AP + 6F = AlF:* 6.9x10"°
AR* + 40H == AI(OH)s 1.1x10%
Cd** + 4Cl" == CdCl* 6.3x10°
Cd?* + 4CN- == Cd(CN)* 6.0x1018
Cd** + 4I' == Cdl/* 2.6x10°
Cd?* + 40H == Cd(OH)* 4.2x108
Cd?* + 4NHs; == Cd(NHa)s?* 1.3x107
Co?* + 6NHs == Co(NHa)s?* 1.3x10°
Co* + 6NHs; == Co(NHa)s** 2x10%
Co?* + 4SCN- == Co(SCN)s 1x10°
Cr¥* + 40H == Cr(OH)s 8x10%°
Cu?* + 40H == Cu(OH)s* 3x108
Cu?* + 4NHs; == Cu(NHa).?* 2.1x10%
Fe** + 6CN. == Fe(CN)* 1x10%
Fe** + 6CN- == Fe(CN)s* 1x10%
Fe3* + SCN- == Fe(SCN)* 1.3x102
Fe®* + 2SCN- == Fe(SCN)," 2.3x10°
Hg?* + 4Br === HgBr, 1x10%
Hg?* + 4ClIF == HgCl,* 1.2x10%
Hg?* + 4CN- == Hg(CN).* 3x10%
Hg?* + 41 == Hgl? 6.8x102°
b + I = I3 7.8x10?
Ni?* + 4CN" == Ni(CN)s> 2x10%
Ni?* + 6NHz; == Ni(NHs)e*" 5.5x108
Pb%* 4+ 4Cl° == PbCl?* 4x10%
Pb%* + 41" == Pbls?* 3.0x10*
Sb* 4+ 4Cl" == SbCls 5.2x10*
Sb3* + 40H == Sb(OH)s 2x10%
Sn?* + 4Cl" == SnCl/* 3.0x10!
Zn* 4 ACN- === Zn(CN)s> 5x10%6
Zn* 4 40H == Zn(OH).> 4.6x10"7
Zn* 4 4NH; == Zn(NHs)' 2.9x10°

4 p : Bodner, G. M.; Pardue, H. L. Chemistry-An Experimental Science; 2nd ed.,

John Wiley & Sons, Inc.: New York, 1995.



